Rl

~ 2 Ra Find the values of RI, R2.

-

iov

(—-—
100 mA

2.
6L 12V |55 - Find T, V',\/2) power
supplied by 12v source.
it

20v(E)

55

Y

3. I(_, 2005,
When the switch is open, T = I mA.

Vi R When closed, T=10mA.
f Find VI and R.

4. When V1210V, T=1A, and the voltnge
drops ocross R) ard R are 2V and
v, ® Ra 3V, respchively. Find R3 and the
power dissipated jn R3.

5. o b Determine Vag Using KVL. Tf a Voltage
Source Wwere [nS Y between C andt'
1o makKe Vag=12.3V, draw the circul
l6IV(3) 'a‘qv Showing the voltage Source polanity
and moagnitvude.

Fino\ Vl, VAD/ VSC'

Note: +he convention Vap means
1he voltnge between points A"
ard “p*  wHh “A" ynderstood

as the more positive point,

.e., node "D’ is e refuence )
node .




7 A cor rodio designed to operate from C.3 Volts

4,5 € current. “What value of R should be placed in
sefi/e‘,s oWH'h e radio if it is to be used In a 126 Volt
cor 7 What should the power rating of the resistor be?

+
R
m.c, ¢3V

—

draws

Praw an eguivdenk cir\cuu'{' Hrat
containsS only one resistor
ard one voltnge source.

Rl js twice RZ,
Rl {s one-hal€ R3.
Derermine Vg, , Veg, Vez -

10. The following circuit was left on yow floor. Spot, your
foith€ul homework checkirg dog, begins to bark, as if he
senses an error jp yow  Calculations. Ts some-thing
wrong wrth your calculations or is Spet simply asking

to dse your homework as o Yestroom 7

t+ A +
i3evia) b-51A -z aov( d |1-204
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. " A If a volbmeter Is connected to points
YA’ and "8 what Is I, and what

EAl T VZ2K IS +he Voltage measvred 7

| —F5 T¢ an ommeter is connected to points
VA" and *B” what is T, ond_iS
this a o\omgmus thing o do?

ov(®) ()2p  How much power is sopplied by Vi + T, 7

Determine Ty, Vsk, power generoted
Ik by =6V source.




